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Set0l Answers for No.10044

“rer“;_{?}z}} nd N B)=1 n(du B)=8
Ansl =| 1= ma;‘_e{“l s oy [ 2= MA=B)=2 n(U=(4 U B))=4
aread = {3,6,9, 11} n(B-A4)=>3 Math@MUT ]
areal = {;’,4’{1(})’ 123 n(4d N B)=0  n(4 U B)=9
Ans2=| 1= area;’_re{“s g 75,11 L 2=| n(4-B)=4 n(U-(4 U B))=5
aread = 2,8, 13, 14,15} n(B-4)=3 Math@MuT
[ [ areal=1{5,8,10} | |
area? = { } n(intersect(4, B, C))=0 n(4A-B)=4
area3 = {13, 14} n(union(4, B, C)) =11 n(B-A4)=3
R aread = {4} 5 n(d N B)=0 n(C N (4 U B))=2
S areas=1{% 7 n(B A C)=1 n(C U (4 A B))=6
area6= {1} n(d u C)=9 n(intersect(4, B, C)) = 15
area7 ={2,3,9,12} n(B U C)=8 Math@MUT
L Larea8 = {6,7, 11, 15} ]

[ 4 U B=1{2,3,4,56,9,10,11,13,14} | 1=(4 U B={areal,area2, area3}) ]
A4nB={} 2=(B-A={area3})

AU B'={1,7,8,9,10,12,13, 14,15}
BN A={2345611}
A-B=1{9,10,13, 14}
B-A4={1,7,8,12,15}

(4 U B)={1,7,8,12,15}

A~ B={1,7,8,1215}
l(4-B)=1{1,2,3,4,5,6,7,8,11,12, 15}

Ans4 =

>

AnsS =

3=((4 U B) ={aread})
4= (A' = {area3, area6, area7, area8 })

S=(C v (A4 n B)={area2, area4, areal, areab, area?7})
6=((4 v C) n (B v C)={area2, aread, area5, areab, area’7 })
7=(A-B) U (A-C)={areal, area2, aread })
8= (A’ U B= {areal, area3, area4, areab, area7, aread8 } )

L .9:((A—B)’—C: {area2, area3, area8})
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Set0l Answers for No.10127

areal = {2,5,6,9,10}

area? = {41 n(4d N B)=1 n(4 v B)=9
Ansl =| .1 = area3 = (1,7, 12} ,.2=| n(4-B)=5 n(U-(4 v B))=3
aread = (3.8, 11} n(B-4)=3 Math@MUT
areal = {1,2,7} n(4d N B)=4  n(4 U B)=9
Ans2=| 1= “re"z?{fj{;’ ?61}1} ,2=| n(4-B)=3 n(U-(4 U B))=2
“;f:a o (5.6} n(B—A4)=2 Math@MUT ] |
[ i areal = {1,4,7} ] i
area? = {17} n(intersect(4, B, C))=0 n(4d-B)=4
area3=1{2,3,9} n(union(4, B, C)) =10 n(B-4)=3
nsi<| 1< aread = {10} . n(4d N B)=1 n(Cn(4uB))=1
area’ = { } ’ n(B N C)=0 n(C U (4 N B))=4
areab = { } n4d v C)=7 n(intersect(A4, B, C)'): 19
area7 = {6,18} n(Bu C)=7 Math@MUT
L Larea8 = {5, 8, 11,12, 13, 14, 15,16, 19 } | J
4 v B={1,2,3,59,10,11} I .1=(A':{area3,area4}) |
’ A4 B=1{3,9} .2=(B'—A={area4})
AV B={1,2,3,45, §, 7,8,9,10, 12,13, 14} 3=(4 N B'={aread})
B nA4={11} 4=(4 n C={aread, aread})
Ans4 = 4-B={1,2,510} , Ans5 = S=(B N (4 v C)={area, area5, areab})
B—4A= {4,6,7,8,12,13, 14} 06=((4 N B) U (B N C)={areal, area’, areab})
(4 v B)’: {4,6,7,8,12,13,14} 7=((C-4) v (C-B)={aread, areab, area7 })
A N B= {4,6,7,8,12,13, 14} 8= (A' U B= {areal, area3, area4, area6, area7, area8 })
L (4-B)=1{3,4,6,7,8,9,11,12,13,14} | L 9=(4 N (B-C) = {areal, aread, area5}) ]
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Set0l Answers for No.10305

areal = {5,7,10, 12}

n4 ~ B)=2  n(4duU B)=8
Ansl =| 1= Z:egfggi 2= n(4-B)=4 n(U-(4 U B))=4
e 4‘: {‘1’ ST n(B-A4)=2 Math@MUT
areal = {5,8, 14 n(4 A B)=1  n(4 U B)=8
Ans2=| 1= area;”:“{‘i;f?g,“} ,.2=| n(4-B)=3 n(U-(4 U B))=6
aread = {6,7,12, 13,15, 16} n(B-4)=4 Math@MUT
i areal = {6} i -~ i
area = {12} n(intersect(4, B, C)) =0 n(4d-B)=2
area3 = {4,5,7, 14} n(union(4, B, C)) = 12 n(B-A4)=6
imsg| | areat =19} S n(4d N B)=1 n(C A (4 U B))=3
areas = { } ’ n(B N C)=2 n(Cu (4 nB))=7
area6 = {10, 16} n(4d v C)=8 n(intersect(4, B, C) )= 13
area7 = {8, 11,13} n(B v C)=11 Math@MUT
L area8= {15} | ]
AU B={4,57,911,14,15,16} | i d=(4 N B={area2})
, AnB=1; 2=(A'-B={aread})
AU B'=1{56,7,8,910,12,13,15,16} 324 A B=lareat))
B n A={4,11,14} 4=(A4 n C={area4, area5})
Ans4 = A-B=1{5,7,9,15,16} , Ans5 = S=(C n (4 v B)={aread, areas, area6})
B —d= {6,8,10,12,13} 6=((4 N C) v (B n C)={aread, areas, areab })
(4 U B)=1{6,8,10,12,13} 7=((A-B) N (A-C)={areal })
A N B'=1{6,8,10,12,13} 8=(A4' - C = {area6, area7})
L (A—B)':{4,6, 8,10,11,12,13,14} | L 9=(A4 n (C—B)’:{area],areaZ,area5})
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Set0l Answers for No.10491
areal = {3,4,10}

n(4d N B)=3 n(4d v B)=7
Ansl =| 1= “rere:3{_5’{67’}12} 2=| n(4-B)=3 n(U(—(A U)B)):S
aread = (8,9, 11, 13, 14} n(B-4)=1 Math@MUT
areal = {5,12,13} n(A ~ B)=3 n(A U B)=S8
Ans2=| 1= “Zjii;_{{l%zg} 2= n(4-B)=3 n(U-(4 U B))=7
aread = {0.3,7.9. 10, 11, 14} n(B-4)=2 Math@MUT
i [ areal = {5,10} ) -~ |
area2 = {2,11} n(intersect(4, B, C)) =0 n(4d-B)=4
area3 = {8, 15} n(union(4, B, C)) =10 n(B-A)=3
szl 1o aread = {3, 6} S nA4 ~ B)=2 n(C A (4 U B))=3
area’ = { } i n(B N C)=1 n(Cu (4N B))=6
areab = {4} nd v C)=8 n(intersect(4, B, C)) =16
area7 = {12} L n(B U C)=8 Math@MUT
L Larea8=1{0,1,7,9, 13, 14} ]
AU B={56911,12,13,14} | [ 1=(B = {areal, aread})
A0 B={612} 2=(B' - A ={areal })
4V B={4, 5,’6, 7,8,10,11, 12,15} 3=((4 N B) = {areal, area3, aread})
B N A={913,14; 4= (A’= {area3, areab, area7, area8 })
Ansd = A-B={511; , Ans5 = S5=(C U (4 n B)={area2, area4, area$, areab, area?7 })
B'—A4=1{4,7,8,10,15} 6=((4 v C) n (B C)={area2, area4, areal, areab, area7 })
(4 U B)=1{4,7,8,10,15} 7=((A-B) N (A-C)={areal })
A~ B'=1{4,7,8,10 15} 8=(4 N B ={area’, area8})
L(A-—B) =1{4,6,7,8,9,10, 12, 13, 14, 15} | L 9=(C N (B-A) = {areal, area2, area8})
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Set0l Answers for No.10782

[Page 0005]

Ans4 =

areal = {7, 14}
area? = {4,12,13}

Ansl =1 I=) a3=16,9,11}
area4 = {5, 8,10}
areal ={2,3,4,5,7

ns2 | 17— area? = {6, 11}

area3 =1{8,9,12}
area4 = {10, 13 }
areal = {16} )
areal = {8, 13}
area3 =1{3,6,9,12,17}

o, aread = {5}
Ans3 =| .1 = areas = { }
areab = { }

area7 = {2, 14}

L larea8=1{4,7,10,11,15,18,19}
(4 U B={2,3,4,5,7,8,9,10, 12} ]
AN B=1{24}

AU B=1{23,45,6,718,911}

B N A'=1{10,12}
A-B=1{3,5,7,8,9}
B —-A=1{6,11}
(4 U B)=1{6,11}
A~ B={611}

Ans5 =

>

(A4-B)=1{2,4,6,10, 11,12}

n(4 N B)=3 n(4d U B)=8
,.2=| n(4-B)=2 n(U-(4 U B))=3
n(B-4)=3 Math@MUT
; n(4d N B)=2 n(4 U B)=10
,.2=| n(4-B)=5 n(U-(4 U B))=2
n(B-4)=3 Math@MUT
n(intersect(4, B, C)) =0 n(4-B)=2
n(union(4, B, C)) =11 n(B-4)=5
P n(d N B)=2 n(C N (4uB)=1
T n(B N €)=0 n(C U (4 N B))=5
n(4 v C)=6 n(intersect(4, B, C)') = 18
n(B v C)=10 Math@MUT

A= (A'= {area3, area4})
2=(B-A'={area2})
3=(4 N B'={aread})
4= (A’ ={area3, areab, area’7, area8 })

S=(4 v (B n C)={areal, areal, aread, areas, area6 })
6=((4 U B) n (4 v C)={areal, area, aread, area’, area6 })
7=((C—-4) n (C-B)={area7})
8= (B' U C= {areal, area?, area3, aread, area7, area8 })
9={(B- C)’—A = {areab, area7, area8})
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Set0l Answers for No.11040
areal = {4,8,9,11,12} 04 A B)=1 n(4 U B)=8
Ansl =| 1= arig‘i?é{ili} 2= n(4-B)=5 n(U-(4 U B))=4
aread = (3,5, 10, 13} n(B-4)=2 Math@MUT
areal = {4,6,8,12} nA ~ B)=2 n(A4 U B)=9
Ans2=| 1= arizesai?;,sfolfl}u ,.2=| n(4-B)=4 n(U-(4 U B))=5
aread = {1,2,3,7, 14} n(B-4)=3 Math@MUT
i [ areal = {5} ) -~ |
area? = { } n(intersect(4, B, C))=0 n4d-B)=4
area3 ={2,3,4,9,16,17} n(union(4, B, C)) =12 n(B-4)=17
nsi<| 12 aread = {6, 12,13} e n(4 N B)=0 n(C N (4uv B))=4
areas = { } i n(B N C)=1 n(Cu (4 nB))=5
areab = {14} n(d v C)=6 n(intersect(4, B, C)) =16
area7 = {11} L n(Bu C)=11 Math@MUT
L L area8=1{7,8,10,15} | ]
I AU B=1{3,7,8,9,10,12} i [ 1=(4 N B={area2}) i
/ 4 n B={10} 2=(A - B ={area3})
40 B={3,45,6,8, ?, 10, 11, 13, 14,15, 16, 17 } 3=((4 N B) ={areal, area3, aread})
B nA={712} .4=(A’= {area3, areab, area7, area8 })
Ans4 = 4-B={3,8,9} , Ans5 = S=(B U (4 n C)={area2, area3, area4, area$, area6 })
B-A= {4,5,6,11,13,14,15,16, 17} 6=((4 U B) n (B v C)={area2, area3, area4, areas, area6 })
7=((C—-4) v (C—-B)={aread, areab, area7})
8= (B'— C= {area4, area7})

(4 U B)=1{4,5,6,11,13,14,15,16,17}

A~ B={4,5,6,11,13,14,15,16,17}
L(A4—B) =1{4,5,6,7,10,11,12,13, 14,15, 16,17} | L
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9=((B~-C) — A= {areab, area7, area8} )
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Set0l Answers for No.11048

areal = { }
area? =1{5,6,9}
area3 =1{3,7,10}
aread = {2,4,8,11,12}
areal = {7,8,12,13,15,17}
areal = {6}

n(4d N B)=3 n(4d v B)=6
,.2=| n(4-B)=0 n(U-(4 v B))=5
n(B-4)=3 Math@MUT

Ansl =| .1 =

n(4d ~nB)=1 n(4 U B)=10

Ans2=| .1= ,.2=| n(4-B)=6 n(U-(4 v B))=5
DTN BT m v
[ areal = { } i 1
area? = {10, 13} n(intersect(A4, B, C)) =0 n(4d-B)=1
area3 = {1,14} n(union(4, B, C))=9 n(B-A4)=5
dns3—| 1= aread = {16} e n(d N B)=2 n(C N (4uv B)=4
area’ = { } i nBnNC)=3 n(Cu (4 nB))=7
area6 = {3,6,9} n(d v C)=7 n(intersect(4, B, C)) = 18
area7 = {12} n(Bu C)=9 Math@MUT
L Larea8 ={0,2,4,5,7,8, 11,15, 17 }] ]
AU B=1{2,3,4,56,810} | i d=(A N B={area2})
o AN B=15} 2=(B —4'={areal })
Av B={0,1,2,457,89,10} 3=((4 v B)': {aread})
B N A':{3,6} A4=(B n C={area5, area6})
Ans4 = A-B=1{2,4,8,10} , AnsS = S=(B n (4 v C)={area, areal, areab })
B -A= {0,1,7,9} 6=((4 N B) U (B n C)={areal, areas, areab })
4 v B)':{O, 1,7,9} 7=((B-4) v (B-C)={area2, area3, areab })
A N B=1{0,1,79} 8=(B N C={areal, area8})
L (A—B)': {0,1,3,5,6,7,9} | L .9:(3’ N (A—C)/: {area4, area7, area8}) i
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Set0l Answers for No.11107

areal = {5,7,8,11} n(Ad A B)=2 nA U B)=7

Ansl =| 1= “;:553‘_{{61’09}} 2= n(4-B)=4 n(U-(4 U B))=5
aread= (0, 1.2.3,4) nB-A)=1 Math@MUT
areal = {5,8} n(4 A B)=1  n(4 U B)=9
Ans2=| 1= areal = {11} 2= n(4-B)=2 n(U-(4 U B))=5
area3 =1{4,6,9,13,15,16} BB -A)=6 Math@MUT
aread = {3,7,10, 12, 14}
[ i areal = {9} ] ]
area? = {2} n(intersect(4, B, C)) =2 n(4-B)=3
area3 = {6} n(union(4, B, C)) =10 n(B-A4)=1
szl 12 aread = {8,10} 5 n(4d N B)=3 n(C N (4 U B))=4
’ area5={4,11} > nBnNn C)=2 n(Cu (4N B)=28
area6={ } nd u C)=9 n(intersect(4, B, C) )= 15
area7 = {5,13,16} n(Bu C)=9 Math@MUT
L Larea8=1{0,1,3,7,12, 14,15} i
AV B=1{2,3,4,5,6,7,9,11, 14,16} | i 1=(A4 N B={area2})

AN B={711,14}
AU B=1{245778910 11,12, 13,14,15}
B A={3616}

2=(A'-B={area3?)
3= (A' U B'= {areal, area3, area4 })
4=(A N B={area2,areal})

Ansd = , A-B=1{2,4,59} , Ans5 = 5=(C n (4 U B)={aread, area5, area6})
B -4=1{8,10,12,13,15} 6=((4 N C) v (B n C)={aread, areal, areab })
(4 U B)=1{8,10,12, 13,15} 7=((B-A4) N (B-C)={area3})
A~ B'=1{8,10,12,13,15} .8=(C' =B = {area2, area3})
L(4-B)=1{3,6,7,8,10,11, 12, 13, 14, 15, 16 } | L 9=(4 N (C-B) = {areal, area2, areaS}) |
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Set0l Answers for No.11419
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00091

r“r;‘f{zo{z}” n(d n B)=3  n(4du B)=5
Ansl =| 1= “;Za;_{’s 5 2= n(4-B)=0 n(U-(4 U B))=8
aread = {1,4,6,7,9, 10, 11, 12} n(B-4)=2 Math@MUT
areal :Z{E,{2f04,153:}11} nA ~ B)=2 n(A U B)=S8
Ans2=| 1= “’eaia;_{;} 2= n(4-B)=5 n(U—-(4 U B))=7
aread = {6,7,8,9, 12, 14, 15} n(B-4)=1 Math@MUT 1|
[ i areal = { } ] ]
area2 ={1,7} n(intersect(A4, B, C)) =0 n(4d-B)=2
area3 = {8} n(union(4, B, C))=9 n(B-A4)=1
szl 1o aread = {5, 6} 5. n(4 ~ B)=2 n(C N (40U B))=2
S area5=1{ } P n(B N C)=0 n(C U (4N B))=8
areab = { } n(4 v C)=8 n(intersect(4, B, C)/): 19
area7 = {11, 14,15,16} n(Bu C)=9 Math@MUT
L Larea8 ={2,3,4,9,10,12,13,17, 18, 19} i
4 v B={1,2,3,4,513,14} I 4]:(A’={area3,area4})
) 4N B={12} .2=(B—A':{area2})
A v B=1{1,2,3,56, 7: 8,9,10,11, 12,13, 14} 3=(A4-B) U (B-A)={areal,area3})
B nA4={4} 4=(4 N B={area2,areal})
Ans4 = A-B=1{3,5,13,14} , Ans5 = S=(4 n (B v C)={area2, area4, areas})

B -A4=1{6,7,8,9,10, 11,12}
(44U B)=1{6,7,8,9,10,11, 12}
A4 N B'={6,78,910 11,12}

L (4-B)=1{1,2,4,6,7,8,9,10,11,12}

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢

6=((4 N B) U (4 n C)={area2, aread, area5 })
7=((C—-4) n (C-B)={area7})
8=(B - C = {aread, area7})

L .9:((A—B)’—C’: {area5, areab, area7 })
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Set0l Answers for No.11424
“reral;_{?f’lg} n(4 N B)=2  n(du B)=7
Ansl=| .1 = 3223:{8‘14} 2= n(4-B)=3 n(U-(4 U B))=6
aread = {6,7,9,10, 11, 12} n(B-4)=2 Math@MUT
areal = {43 1,0’{;1’71}2’ 13} n(d N B)=2 n(4uU B)=10
Ans2=| 1= GZZ;‘_‘{O s L 2=| n(4-B)=5 n(U-(4 U B))=4
wrent — (126,91 n(B-A4)=3 Math@MUT
[ [ areal={10,16} ) i
area? = {6} n(intersect(4, B, C))=0 n(d-B)=2
area3 = {1} n(union(4, B, C)) = 11 n(B-A)=3
aread = { } n(4 N B)=1 n(C N (4uvB))=2
Ans3 =| .1 = ,.2=
area’ = { } n(B N C)=2 n(Cu (4 nB))=8
area6= {3, 15} n(4 v C)=10 n(intersect(4, B, C)) =17
area7 =1{5,7,9,12,13} n(B v C)=9 Math@MUT
Larea8 = {0,2,4,8, 11, 14} ]

I .]=(B'= {areal, area4})
2=(B'-A={aread?)

3=(4 U B'= {areal, area3, area4 })

4= (C’ ={areal, area, area3, area8 })

i AuB{45781114}
AN B=1{4,7 14}
AU B=1{4,67,910,11,12,13,14,15,16}

B A={58}
Ansd = A-B={11} , Ans5 = S5=(C U (4 n B)={area2, area4, area$5, areab, area7 })
B-4= {6,9,10,12,13,15,16} O6=((4 v C) n (B vy C)={area2, aread, area’, areab, area?7})
(4 U B)=1{6,9,10,12,13,15,16} 7=((B-4) n (B-C)={area3})
A n B'={6,9,10,12,13, 15,16} 8= (c' A = {areal, area2})
9=((B—-C) — A= {areab, area’7, area8}) ]

[(A-B) =1{4,5,6,7,8,9, 10,12, 13, 14, 15, 16 }
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢
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Set0l Answers for No.11470
areal = {0,5,8,9}

area2 ={3,10} n(4d N B)=2 n(d U B)=7

Ansl =| .1 = ,.2=| n(4-B)=4 n(U-(4 U B))=4
are;;e:“zl"gi N n(B-A)=1 Math@MUT
areal = {1,2,6,7} n(4 N B)=0  n(4 U B)=7
Ans2=| 1= area‘?e:“f; 1{27}13} ,2=| n(4-B)=4 n(U-(4 U B))=8
aread = {3,4,5,8,10, 11, 14, 15} n(B-4)=3 Math@MUT
i areal = {14,16} ) i
area? = {8,9} n(intersect(A4, B, C))=0 n(d-B)=5
area3 = {11, 12} n(union(4, B, C)) =10 n(B-—A4)=3
nsi<| 12 aread = {3,7,15} . n(4d N B)=2 n(C N (4 v B))=4
area’ = { } i nBnNC)=1 n(Cu (4 nB))=6
areab = {4} n(d v C)=8 n(intersect(4, B, C)) = 14
area7 = { } n(B U C)=8 Math@MUT
L Larea8 = {5, 6,10, 13} | ]
4V B=1{4,6,8,9,14,15,16} I 1 =(B = {areal, aread}) 1
, 4 N B=16,15} 2=(B'—A={aread})
A v B={375,6, 7: 8,10, 11,12,13, 14,15} 3=((4 U B) = {aread})
BN A=1{49,16} 4=(4 v C={areal, areal, aread, areal, areab, area? })
Ansd = A-B={8 14} , AnsS = 5=(C U (A4 N B)={area2, area4, area’, area6, area?7})
B —A4=1{3,57,10,11,12,13} 6=((4 U C) n (B v C)={area2, aread, area5, areab, area7})
(4 v B)’: {3,5,7,10, 11, 12,13} 7=((C—-4) u (C—-B)={aread, areab, area7 })
A~ B={3,571011,12,13} 8=(4 n C={area3, area8})
L(4 —B)': {3,4,5,6,7,9,10, 11,12, 13, 15, 16 } | L 9=(B n (4 —C)’= {area3, area$, area6}) |
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Set0l Answers for No.11472

m“]r: {2213{’146}:5’ 8} n(4 N B)=1  n(4 U B)=9
Ansl=| .1 = ar:aga_ {‘1 o.11; [2=| nA=B)=5 n(U-(4 U B)=2
aread = 16,7} n(B-4)=3 Math@MUT
“méfg’é’g; n(4 N B)=3 n(du B)=7
Ans2=| .1 = “re;’re;3_’{é} 2= n(4-B)=3 n(U-(4 U B))=8
aread = {3,4,5,9, 10, 12, 14, 15} n(B-4)=1 Math@MUT
[ areal = {11} | |
areal = {14} n(intersect(4, B, C)) =2 n(4d-B)=2
area3 = {4, 12, 15} n(union(4, B, C)) =11 n(B-A)=4
mss| | areat=19} S n(4d N B)=3 n(C (40U B))=4
MIEVEE greas = (5,130 07 n(B N C)=3 n(C U (4N B))=7
areab = {3} n(d4d v C)=8 n(intersect(4, B, C) )= 12
area7 = {7,8} n(Bu C)=10 Math@MUT
L area8=1{2,6,10} | J

[ A v B=1{8,9,11,12,13,14} A =(4 U B={areal, area2, area3})

, 4 n B=1{12} 2=(B-A'={area2?)
4V B={23,45, §’ 7,8,10,11,12, 14,15} 3=0(4 n B) = {areal, area3, aread })
B nA4={913} ,4=(C’: {areal, area2, area3, area8 })
Ansd = A4-B={8 11,14} , Ans5 = S=(B N (4 v C)={area2, areal, areab})

6=((4 N B) U (B n C)={areal, areas, areab })

B -A4=1{2,3,4,5,6,7,10,15}
7=((A-B) N (A-C)={areal })

(4 U B)=1{2,3,4,56,7,10,15}
A N B={23,4,56,7,10,15} 8=(A4 - C = {areab, area’7})
L (4 —B),: {2,3,4,5,6,7,9,10,12,13, 15} | L 9=(B N (C—A)’= {area2, area3, area5 }) |
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢
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AU B=1{4,7,9,10,11,12,14,16,17}
AN B={10}
AU B'=1{4,5681013,1517}
BN A={70911,12 14,16}

A-B={4,17} , AnsS =

B -A4=1{5,6,8,13,15}
(4 U B)=1{5,6,8,13,15}

A~ B'={5628,13 15}
l(A-B)'=1{5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 } |

Ans4 =

X [Page = 0013]

Set0l Answers for No.11523
”realzz{_oiilgl}z} n(4 N B)=2  n(4 U B)=6
Ansl=| .1 = “:;Za;_{é} ,.2=| n(4-B)=3 n(U-(4 U B))=7
aread = {1,2,3,5,7,9,10} n(B-4)=1 Math@MUT |
areal = {4
areaZ:{’j{1}3} n(d n B)=2 n(d4 U B)=8
Ans2=| .1 = area3= (2,5 0. 12 161 2= n(4-B)=1 n(U-(4 U B))=17
aread = {6,7,8,9, 11, 14, 15} n(B-4)=5 Math@MUT
[ [ areal=1{2,3,12,16} |
area? = {4,11,15} n(intersect(A4, B, C)) =0 n(4-B)=4
area3 = {5,6} n(union(4, B, C)) =12 n(B-A4)=2
ns3=| 17— aread = { } P n(4d N B)=3 n(C N (4uv B)=0
S area5=1{ } P n(B N C)=0 n(C U (4N B))=6
areab = { } n(4 v C)=10 n(intersect(4, B, C) ) =17
area7 =1{9,17, 18} n(Bu C)=8 Math@MUT
L Larea8 = {7, 8,10, 13, 14} | ]

i A=(4 N B={areal})

2=(A-B'={area2})
3=0(4 n B)'= {areal, area3, area4})
4=(4A v B={areal, area2, area3, area4, area5, area6 })
S5=(C U (A n B)={area2, area4, areas, areab, area?7})
6=((4 v C) n (B U C)={area2, area4, areal, areab, area7 })
7=((A4-B) U (A-C)={areal, area2, area4})
8= (C’—A’: {areal, areal })

9=(4 N (C—B)/: {areal, area2, areal })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.11549

‘”“”: {2116{’59; 1} nd nB)=1 n(4du B)=10
Ansl =| 1= area;_e{“zg 4810y 27| MA-BY=4 n(U=(d L B)=1
aread = {7} n(B-4)=5 Math@MUT |
“real;{{ol’ 68’ 194}} n(d N B)=3 n(4d U B)=10
Ans2 =| 1= ar‘;:;“_gz 4513y p2=[pA-B)=3 n(U-(4 U B)=5
aread = {3,7,10, 11,12} n(B-A)=4 Math@MuT
i areal = { } l |
area? = { } n(intersect(4, B, C)) =1 n(4-B)=2
area3 ={6,9,15} n(union(4, B, C))=9 nB-A)=4
s3] 12 aread = {4,7} 5 n(d N B)=1 n(C N (4 U B))=4
mI= A areas = {3} 4= n(B A C)=2 n(C U (4 N B))=6
areab = {14} n(4 v C)=6 n(intersect(4, B, C)) =13
area7 = {5, 8} n(Bu C)=9 Math@MUT
L Larea8 = {2, 10, 11, 12, 13 } | ]
4w B={2,3,45911,12,13} I 1=(A = {area3, aread})
AN B={4,13} 2=(A-B'={area2})
AU B =1{246,78,10,12,13,14,15} 3=((4 U B) = {areat})
B nA4={35911} A4=(B n C={area’, areab})
Ans4 = A-B={2,12} , Ans5= S=(A4 n (B v C)={area2, area, areal })

B -A4=1{6,7,8,10, 14,15}
(4 U B)=1{6,7,8,10, 14, 15}

A4~ B={6,7,3810,14, 15}
l(A—B) =1{3,4,5,6,7,8,9,10, 11, 13, 14, 15}

BT CHEN VIONRI S [D'0:9:0:9:9:0:9:0:9:0:9:0:0:9:0:9.0:9:0:0:9:0:9.0:9.:0:0:9:0.9.0:9:0:0.:0:0.9:0.9.9:0:9:0.9.0:9.0:0:9:0:9.0.9.0:0:0:0.9:0:9.0:0:9:0.9:0:9.0:0:9:0:9:0:9.9:0:0:0.9.0:9.9.0:9:0.9:0.9.9:0.9:0.9:0:9.9:0:9:0:9.0:9.0.0:9:0.9.0.9.0:0.9.0:9:0.9.0.9:0.0:9:0.9.0:9.9:0:9:0.9:0.0.0.4

6=((4 N B) U (4 n C)={area2, aread, area5 })
7=((A-B) U (A-C)={areal, area2, aread})
8=(4 n C= {area3, area8})
L .9=((C—B) - A= {area3, areab, area8 })




DGRV R NCIVIVEND’'0:0:0:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.:0.0:0.0.0°0.0.0:0.0:0.0.0:0:0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:9.6:0.0.6:0.0:6:0.0 ¢ | : WA B W LN O N LI O N ) ¢
Set0l Answers for No.11925

areal = {8, 11}

area? = {9} n(4d N B)=1 n(4d U B)=17

aread = {3,4,5,6,7, 12} - “
“”“254{’21}1} nd N B)=1 n(du B)=7
Ans2=| .1 = areas = L 2=| n(4-B)=2 n(U-(4 U B))=7

area3=1{1,9,10, 12}

aread = {3,5,6,7,8, 13, 14} n(B-4)=4 Math@MUT
[ [areal={4,9,11,12,13}] ]
areal = {5} n(intersect(4, B, C)) =0 n(4A-B)=6
area3 = {3,7} n(union(4, B, C)) = 14 n(B-—A4)=3
dnsi<| 12 aread = {6} . n(4d N B)=1 n(Cn(4uvB))=2
areas = { } i n(B N C)=1 n(Cu (4 nB))=7
areab = {1} nd4 v C)=12 n(intersect(4, B, C) )= 16
area7 = {8, 10, 14, 15} n(Bu C)=9 Math@MUT
L area8=1{0,2} ] ]
4w B={0,1,2,3,4,8 11,14} I .1=(A':{area3,area4}) 1
/ AnB=1{} 2=(B-A'={area2})
4V B= {3’4j 5,6,7,9,10,12, 13, 14} .3:(A' U B'= {areal, area3, area4})
BnNA={01,2811} 4=(A v B={areal, areal, area3, area4, area5, area6 })
Ans4 = A4-B={3,4,14} , Ans5= S5=(C n (4 v B)={area4, area$, areat })
B —4=1{5,6,7,910,12,13} 6=((4 N C) v (B n C)={aread, areal, areat })
(4 v B)’: {5,6,7,9,10, 12,13} J=((B-4) u (B-C)={area2, area3, areab })
A N B={56,7,91012, 13} 8= (B - C = {aread, area7})
[(A-B)=1{0,1,2,5,6,7,8,9,10, 11, 12, 13} | L 9=((C—B) —A = {areal, area2, area5}) ]
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Set0l Answers for No.11935

“realj{é’f’{gg}g’ 12} n4 N B)=1 nduB)=10
Ansl =| 1= am;_“zzy lo, 11y [ 25| MA-B)=5 n(U=(4 L B)=1
wreat - 16} n(B-A)=4 Math@MUT |
areal :2{79;;4’61}5} n(4 N B)=2  n(4 U B)=10
Ans2=| 1= area;_”é; s 16y [ 25| MA-BY=3 m(U=(4 L B)=5
aread = {2,4,8,10,12} n(B-4)=5 Math@MUT
[ areal = {10} ]
area? = { } n(intersect(4, B, C)) =1 n(A-B)=4
area3 = {3,6,7,11} n(union(4, B, C)) = 12 n(B-A4)=5

area4 = {8,9, 14}

Ans3=|.1= areas = {16} ,.2=
areab= {5}
area7 = {1,2}

n(4 N B)=1 n(C N (4 U B))=5
n(Bn C)=2 n(Cu(4n B)=7
n(4 v C)=38 n(intersect(4, B, C)) = 15
n(B v C)=11 Math@MUT

L Larea8 = {4, 12,13, 15} |

AU B=1{6,7,9,10,11,13}

AN B=1{6,9}
AU B={1,2,3,4,567,8,9,12}
B~ A4={10,11,13}
A-B=1{7}

B -A4=1{1,2,3,4,5,8,12}

(4 U B)=1{1,2,3,4,5,8,12}

A4 N B={1,2,3,4,5,8,12}
[(4-B)=1{1,2,3,4,5,6,8,9, 10, 11, 12, 13}

Ans4 =

[Page = 0016]

, Ans5 =

A= (B': {areal, area4})
2=(B-A'={area2})

3=((4 n B)'= {areal, area3, area4})

4= (C,= {areal, area2, area3, area8 })
S5=(C n (4 v B)={area4, area$, areat })

O6=0(A4 N C) v (B n C)={aread, areas, areab })
J=((B-4) U (B-C)={area2, area3, areab })
8= (B'— C= {aread, area7})

9= (B, N (C—A)’: {areal, area4, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0.0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.:0.0:0.0.6°0.0.0:0.0:0.0.0:0:0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:9.0:0.0.0:0.0:6:0.0 ¢ | : WA B W LN RO N LI o ) 94
Set0l Answers for No.12183

areal = {9,12, 14,15}

X

rea?= {5} n(4 nB)=1  n(d U B)=T
Ansl=| .1 = a:;ae;_b 0} | 2=| n(4-B)=4 n(U-(4 U B))=6
aread = 14,6,8, 11,13, 16} n(B-4)=2 Math@MUT
areal = {23’,5’{;2’113}’ 14} n(d N B)=2 n(d4uU B)=10
Ans2=| 1= a":;"3_‘{6’8 oy p2=|nA-B)=5 na(U-(4 U B)=2
areat— {4, 10] n(B-A4)=3 Math@MUT ]|
i areal = {5,9} | ]
area? = {3} n(intersect(4, B, C)) =0 n(d-B)=5
area3 = {7, 13, 14} n(union(4, B, C)) = 10 n(B-A)=4
s —| g _|areat=t6, 10,113 n(d N B)=1 n(C (4 U B)=4
IEEEN geas=1{ ) [T n(B A C)=1 n(C U (4 N B))=5
area6 = {4} nd v C)=7 n(intersect(4, B, C)) =13
area7 = { } n(Bu C)=8 Math@MUT
L Larea8 = {8, 12, 15} ] J
4 B=13,4,9,10,15} I .1:(B’:{area],area4}) |
, AN B=1{3,15} 2=(B -4 ={areal })
AU B=1{3,567,810,11,12,13, 14,15} 3=((A-B) A (B-A)=1{ 1)
B~ A=1{409} 4=(A4 n C={area4,area5})
Ans4 = A-B=1{10} , AnsS = S=(4 U (B n C)={areal, area2, aread, areas, area6 })
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B —A4=1{5,6,7,8,11,12,13, 14}
(4 U B)=1{5,6,7,811,12,13, 14}
A~ B={56,72311,12, 13,14}

[(4-B)=1{3,4,5,6,7,8,9,11, 12, 13, 14, 15}

6=((4 v B) n (4 v C)={areal, area2, area4, areas, area6 })
7=((A=-B) U (4-C)={areal, area2, aread})
8=(A4 n B'={area7, area8})
L .9:((A—B)’—C’: {area5, area6, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12246
areal = {6,12}

n(4d N B)=2 n(4 v B)=17
dnsl=| 1= ai22“32:{{32’5“9}} 22| n(A-B)=2 n(U—(4d U B))=4
aread = {4,7,8,10} n(B-A4)=3 Math@MUT
areal = {8,9,14,17} nA A B)=3 (A4 U B)=10
Ans2=| .1 = Z:ZZ?:; iéizi ,.2=| n(4-B)=4 n(U-(4 U B))=5
aread = {4,6,7, 11,13} n(B-4)=3 Math@MUT
[ [ areal = {5,11,14} ] il
areal = {6} n(intersect(4, B, C)) =0 n(4A-B)=4
area3={17,8} n(union(4, B, C)) =10 n(B-A4)=2
ansi=| 12 aread = {15} e n(4d N B)=1 n(C N (4 U B))=1
areas = { } ’ n(B N C)=0 n(C v (4 N B))=5
areab = { } n(4d v C)=8 n(intersect(4, B, C)) = 14
area7 ={3,12,13} n(B v (C)=7 Math@MUT
L Larea8 = {2,4,9, 10} ]
4 U B=1{4,56,7,10,11,12,13,14,15} I I =(B = {areal, arcad}) 1
A0 B=H1L14) 2=(A-B={areal})
4 B=1{4,7,89,10,11, 13, 14,15} 3=(4 n B)': {areal, area3, area4 })
B A={5612} A4=(B n C={area5, areab})
Ans4 = A-B=14,7,10,13,15} , AnsS = S=(4 U (B n C)={areal, area2, aread, areas, area6 })

X [Page = 0018]

B —A4=1{8,9}
(4 U B)=1{8,9}
A N B={8,9}

(4-B)={5,6,8,9,11,12, 14}

6=((4 v B) n (4 v C)={areal, areal, area4, areas, area6 })
7=((A-B) n (A-C)={areal })
.8=(B’ N C= {areal, area8 })
9=(4 N (C—B)’: {areal, area2, area5 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.:0.0:0:0.6:0.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | : WA B W LN O N LI O N ) ¢
Set0l Answers for No.12332

areal = {0,2,5,8}

read— {4} nd nB)y=1 n(4du B)=8
Ansl =| 1= are;e_“{;lo 2| =By =4 (U= (4 U B)=4
aread=1{1,3,6,9) n(B-4)=3 Math@MUT
“re“];i’gl}l} n(4nB)=1 n(du B)=7
Ans2=| 1= area?f“{l‘4 5 15) ,2=| n(4-B)=2 n(U-(4 U B))=8
aread = {2,6,7,9, 10, 12, 13, 14} n(B-A)=4 Math@MUT
i areal ={2,8,9} | 1
area? = {5} n(intersect(4, B, C)) =3 n(4-B)=3
area3=1{1} n(union(4, B, C)) = 10 n(B-A)=2
P aread = { } 5 n(4d N B)=4 n(C N (4 U B)=4
I greas=16,10,13) [T n(B N C)=4 n(C U (4 A B))=6
area6 = {12} n(4d v C)=9 n(intersect(4, B, C)) =11
area7 = {4} n(Bu C)=7 Math@MUT
L Larea8 = {3,7, 11, 14} | ]

(4 U B=(3,4,5,7,8,9,10, 11, 12, 13} |

1 =(A v B={areal, area2, area3})
AN B={4,11,12}

2=(B'-A={aread?)

AU B'={4,56,810,11,12} 3=((A=B) A (B=A)={ })
Bnd= 13.7,9, 13} 4= (B': {areal, aread, area7, area8 })
Ans4 = A—{?: {5,8,10} , Ans5 = S=(A4 n (B v C)={area2, area4, areas})
B-4={6} 6=((A4 N B) U (4 n C)={area2, aread, area’ })
(4 v B)':{é} 7=((B—-4) v (B-C)={areal, area3, areab })
A N B={6} 8=(B —A = {areal, aread})
L (A—B)':{3,4, 6,7,9,11,12,13} | L .9:((C—B)’—A:{area3, areab, area8 }) i
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Set0l Answers for No.12682

areal = {8,9, 10}

n(d N B)=1 n(4 v B)=38
Ansl =| 1= area = {15} 2= n(4-B)=3 n(U-(4 U B))=5
area3 = {5,11, 14,16} n(B-A)=4 Math@MUT
aread4 = {4,6,7,12,13}
area]:{4§5: 1(1),613, 15} nA ~ B)=1 n(A U B)=9
Ans2=| 1= arezr;i {‘6,{127}17} 2= n(4-B)=5 n(U-(4 U B))=5
aread = {7,8,9, 11, 14} n(B-4)=3 Math@MUT
[ [ areal = {5} T )
area = { } n(intersect(4, B, C)) =1 n(4d-B)=2
area3 ={2,4,7} n(union(4, B, C))=9 n(B-4)=5
P aread = {3} S n(4 n B)=1 n(Cn (40U B))=4
' area5= {11} o n(B N C)=3 n(C U (4 N B))=5
area6 = {12, 13} n(4 v C)=6 n(intersect(A4, B, C)') =14
area7 = {14} n(Bu C)=8 Math@MUT
L Larea8=1{0,1,6,8,9, 10} ] i

AU B=1{0,1,2,5,8,9,10,11, 14}
A N B=1{1,8,10, 14}

AU B'={0,1,3,4,6,7,8,10, 11,12, 13, 14}
BN A={2509}
A-B=1{0,11}

B —A=1{3,4,6,7,12,13}

(4 U B)=1{3,4,6,7,12,13}

A N B={3,4,6712,13}

Ans4 =

Ans5 =

L(4-B)={1,2,3,4,5,6,7,8,9, 10,12, 13, 14 } |
PO 00000:000:000000000000 0000 000000000000000000000000 0000000000000 0000000000000 0000000 00000 0S OISO PSS 0000006006000 00

.1=(B': {areal, area4})
2=(A-B'={area2})
3=(4 N B ={aread})
4= (B = {areal, area4, area7, area8})
S5=(C n (4 v B)={area4, area$, areat })
O6=0(A4 N C) v (B N C)={aread, areas, areab })
7=((C-4) v (C-B)={area4, areab, area7 })
8= (B'—Arz {areal, aread })
L 9=((B-C) —A = {areal, area4, area5})




DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.:0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | : WA B W NN ORI J I A D794
Set0l Answers for No.12783

areal ={1,2,5,11,12}

area? ={ } n(4 N B)=0 n(4d U B)=8

Ansl =| .1 = L 2=| n(4-B)=5 n(U-(4 U B))=4
L ‘j’i { 3{’74,85’91}6} n(B-A)=3 Math@MUT
m‘”;{sg’ 61’38} n(d N B)=2  n(4du B)=7
Ans2=| 1= “;:e"aj‘_{{i 7}} ,2=| n(4-B)=3 n(U-(4 U B))=4
aread = {3, 10, 11,12} n(B-4)=2 Math@MUT
[ areal = {11,12} ] ]
areal = {2} n(intersect(4, B, C)) =0 n(A-B)=2
area3={0,1,3,4,9} n(union(4, B, C)) = 13 n(B-A)=6
o] - aread = { } S n(4 N B)=1 n(C N (4uUB)=1
‘ areas={ } & n(B N C)=1 n(C U (4 N B))=6
area6 = {5} n(d U C)=38 n(intersect(4, B, C) )= 16
area7 = {6,7,8,15} n(B U C)=11 Math@MUT
L L area8 = {10, 13, 14} | ]
4w B={4,9,11,12,13,15} I 1=(A4 U B={areal, area2, area3})
/ A4 N B={4} 2=(B-A={area3})
Av B={1,2,3,4,5¢6,7,8,9,10,13, 14,15} 3=((A-B) U (B-A)=1{areal,area3})
B A={11,12} 4=(4 N C={aread, area5})
Ans4 = A-B={9,13,15} . AnsS = S=(B v (4 n C)={area2, area3, area4, areal, area6 } )
B—A= {1,2,3,5,6,7,8,10, 14} 6=((4 v B) n (B v C)={areal, area3, aread, area5, areat6 })
(4 U B)=1{1,2,3,5,6,7,8,10, 14} 7=((A=B) N (4-C)={areal })
A "~ B'={1,23,56,78,10,14} -8=(C - B ={area2, area3})
_(A—B)’={1,2,3,4,5,6,7,8,10,11,12, 141 L 9=(B N (A-C) ={area4, area’7, area8 }) i
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Set0l Answers for No.13022

areal ={6,7,8,10,12}

area? ={ } n(4 N B)=0 n(4d U B)=8

Ansl =| .1 = ,.2=| n(4-B)=5 n(U-(4 U B))=4
ar::Zf{9fT;f1i}fS} n(B-4)=3 Math@MUT
areal = {3} n(d N B)=2  n(4d U B)=8
Ans2=| 1= areal = {3, 13} ,2=| n(4-B)=1 n(U-(4 U B))=1
area3 ={4,9,10, 11, 14} n(B-A)=5 Math@MUT
aread = {6,7,8,12,15,16,17} J
[ _areaI:{6, 14} T i
area = { } n(intersect(4, B, C)) =1 n(4-B)=3
area3 = {4,5,13} n(union(4, B, C)) =11 n(B-4)=4
nsi=| 1= aread = {12} . n(4d N B)=1 n(CnNn (40 B))=3
' area5={10} [~ n(B N C)=2 n(Cu (4 n B))=6
area6= {7} n(4 v C)=8 n(intersect(A4, B, C)') =13
area7 ={3,9,11} n(Bu C)=9 Math@MUT ]
L Larea8 = {2, 8,15} ]
4 U B=1{4,56,7,810,11,12, 14} | [ 1 =(4 v B={areal, area2, area3})
' AN B={56} 2=(B-A'={areal})
4V B={234, 5? 6,7,9,11,12,13, 14} 3=((4 n B) = {areal, area3, area4 })
B N A4={810} .4=(B’= {areal, aread, area7, areal8 })
Ans4 = A-B={4,7,11,12,14} , Ans5 = S=(A4 n (B v C)={area2, aread, areal })
B,—A:{2, 3,9,13} O6=((4 N B) U (4 n C)={areal, area4, areal })
(4 v B)’: {2,3,9,13} 7=((C—-4) v (C-B)={area4, areab, area7 })
A N B'={23,913} 8=(4 n C={area3, area8})
L (A—B)':{Q, 3,5,6,8,9,10,13} ] L .9=(A’ N (B—C)rz{area6,area7, area8}) i
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Set0l Answers for No.13650

[Page = 0023]

areal = {4,6,8,9,13}

area? = {10} ndnB)=1 n(d4uB)=8
Ansl=| .1= aread = {3,5) L 2=| n(4-B)=5 n(U-(4 U B))=5
aread = {7,11,12, 14,15} n(B-4)=2 Math@MUT
areal ={2,13} n(d N B)=2  n(4du B)=7
Ans2=| .1 = arizesai?ffol,i}u 2= n(4-B)=2 n(U-(4 U B))=8
aread = {3,5,7,8,9, 12, 14, 16} n(B-4)=3 Math@MUT
[ areal = {5,16} i |
area? = { } n(intersect(A4, B, C)) =2 n(d-B)=2
area3 ={2,8,15} n(union(4, B, C)) =10 n(B-A4)=5
P aread = { } S n(4 N B)=2 n(C (40U B))=4
area’ = {0, 13} i n(B N C)=4 n(Cu (4 nB))=5
area6= {3, 14} nd u C)=7 n(intersect(4, B, C)) =15
area7 = {11} n(B U C)=8 Math@MUT
L Larea8 ={1,4,6,7,9,10, 12} ] ]
40U B={1,2,3,57,8910} | I 1=(B = {areal, aread})
40 B={1} 2=(A'-B={aread})
AUB:'{1,3,4,6,10,11} .3=((AUB)':{area4})
BN A4={2572809;} 4= (C,= {areal, area2, area3, area8 })
Ans4 = A-B=13,10; , Ans5 = S=(B N (4 v C)={area, areal, areat })

B —-A=1{4,6,11}
(4 U B)=1{4,6,11}

A N B={4611}
L(A-B)'=1{1,2,4,5,6,7,8,9, 11}

6=((A4 N B) U (B N C)={areal, areas, areat})
7=((C-4) v (C-B)={area4, areab, area7 })
8= (C'—B': {area2, area3})
L ,9:((C—B)'—A= {area3, areab, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13655

areal = {8,9} ndnB)=1 nduUB)=8
Ansl =| 1= area2 = {10} 2= n(4-B)=2 n(U-(4 U B))=5
area3 =1{0,3,5,11,12} n(B-A)=5 Math@MUT
aread ={1,2,4,6,7}
m";f {10, 1158} n(4d N B)=3 n(duU B)=9
Ans2=| 1= ar‘;;e;’:;;sgjl’l 1}3} ,2=| n(4-B)=2 n(U-(4 U B))=6
aread = {4, 6,12, 14,16,17} ] n(B-4)=4 Math@MUT
[ [ areal = {11} ) |
area? = { } [n(intersect(4, B, C)) =1 n(4-B)=3
area3 = {9} n(union(4, B, C)) =8 n(B-A4)=2
szl 1o aread = {7, 8} 5. n4 ~ B)=1 n(C N (40U B))=4
' area5= {10} > n(B N C)=2 n(C U (4N B))=6
area6= {15} nd v C)=7 n(intersect(4, B, C)) = 14
area7 = {4, 18} L n(Bu C)=7 Math@MUT
L lareas=1{5,6,12, 13,14, 16,17} | ]
A v B={5"7,8,11,13,14,16,17} 1=(B'= {areal, aread})
AN B={714} 2=(A-B={areal})
AU B= {4,6,7,9,10,12, 13,14, 15,17} 3=((4 v B)': {aread})
B nA4={5381116} 4= (A’: {area3, areab, area7, area8 })
Ans4 = A-B={13,17} , Ans5 = S=(B v (4 n C)={area2, area3, area4, areas, area6 })
B -A= {4,6,9,10,12,15} 6=((4 U B) n (B v C)={area2, area3, area4, area’, area6 })
(4 U B)=1{4,6,9,10, 12,15} 7=((C-A4) n (C—B)={area’})
A N B'={4,6,910,12, 15} 8=(4 - C = {area6, area7})
[(A-B) ={4,5,6,7,8,9,10, 11,12, 14,15, 16 } | L 9=((B-A) - C={areal, area2, area8}) ]
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Set0l Answers for No.13667

areal = {4,6,7}

area2 = {8, 11} n(4 N B)=2 n(d U B)=9

Ansl=| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=2
area3={1,2,5,10} _
aread - 13,0} n(B-A)=4 Math@MUT
“’ealzi{{lf29}} n(d N B)=1  n(4 U B)=9
Ans2=| 1= aredzs = 2=| n(4-B)=2 n(U-(4 U B))=5

area3 ={4,5,6,10,11,14} [~

aread = {2,3,7,8,13} n(B-4)=6 Math@MUT
i areal = {8} ) i
area? = {4,5,13} n(intersect(A4, B, C))=0 n(d-B)=1
area3 = {11,16} n(union(4, B, C)) =12 n(B-A4)=4
ns3=| 12 aread = { } . n(4 N B)=3 n(C N (4 v B))=2
area’ = { } i n(B N C)=2 n(Cu (4 nB)=9
area6 = {10, 17} n(4 v C)=10 n(intersect(4, B, C)) =17
area7 ={2,9,12,15} n(B v C)=11 Math@MUT
L Larea8 = {3,6,7,14,18 } ] ]
4V B=1{4,6,7,10,11,12,13} I AI:(Brz{area],area4}) 1
' 4N B={l1} 2=(A'-B'={area3})
40V B= {3’4’,5’ 6,7,8,9, 11,12} 3=((A N B) = {areal, area3, aread})
B N A4=1{10,13} 4=(B v C={area2, area3, aread, areal, areab, area? })
Ansd = A-B={4,6,7,12} , AnsS = S5=(4 v (B n C)={areal, area2, aread, area5, area6 })
B -A= {3,5,8,9} 6=((A4 U B) n (4 v C)={areal, area2, aread, areal, areab })
(4 U B)=1{3,5,8,9} 7=((A-B) n (A-C)={areal })
A N B= {3,5,8,9} 48:(A' U C= {areal, area?, area3, areab, area7, aread } )
L (4-B)=1{3,5,8,9,10,11,13} | L 9=(C N (4-B) = {area5, area6, area7}) ]
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Set0l Answers for No.13734

‘”eflzfi’;f} nd A B)=1  n(4 U B)=6
Ansl =| .1 = areZ;f {‘5 611 27| MA-B)=2 m(U=(4 U B))=6
aread = {4,7,8,9, 10, 12} n(B-4)=3 Math@MUT 1|
“’e;’]f{i_zg}} n(4 N B)=2  n(4duU B)=8
Ans2=| 1= area;"_e?4‘6 5 1 15) ,.2=| n(4-B)=1 n(U-(4 U B))=6
aread = {3,7,10, 11, 13, 14} n(B-4)=>3 Math@MUT
[ [ areal=1{5,9,10,11} |
areal = {4} n(intersect(4, B, C)) =1 n(4-B)=5
area3 = {2,6,12} n(union(4, B, C)) = 11 n(B-A4)=3
sl 12 aread = {14} S n(4d N B)=2 n(C M (4 U B))=2
mI= AT areas=1{1} S = n(B N C)=1 n(C U (4 N B))=4
area6 = { } n(d4 U C)=8 n(intersect(4, B, C)) = 15
area7 = {15} n(Bu C)=7 Math@MUT
L Larea8 = {0,3,7,8, 13} ]

AU B={506,11,13,14,15}
AN B={15}

AU B'=1{4,7,8,9,10,12,13, 14,15}
BN A={5611}
A-B=1{13,14}

B —A4=1{4,7,8,9,10,12}

(4 U B)=1{4,7,8,9,10,12}

A N B'={4,7,8,910, 12}
L(A—B) ={4,5,6,7,8,9,10, 11,12, 15} ]

Ans4 =

X [Page = 0026]

, Ans5 =

.1=(A': {area3, aread })
2=(B-A={area3})
3=((4 n B)'= {areal, area3, aread })
A4=(A n C={aread, area5})

S5=(A4 n (B U C)={area2, aread, area5})
6=((4 N B) U (4 n C)={areal, aread, areal })
7=((4-B) U (A4-C) = {areal, area2, aread})
8=(4 ~ B ={area7,area8})
.9:((C—A)'—B: {areal, area4, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13962
“’ealr:y_’?f}’” ndnB)=1 nduUB)=8
Ansl =| 1= areZ;f {‘7 s 12y [2=| nA-B)=4 n(U-(4 U B)=4
aread = (6,9, 10, 11} n(B-4)=3 Math@MUT
“’e‘”;fz{’g}g} n(d N B)=1 n(4duU B)=10
Ans2=| 1=| 3_";2“5‘7 12, 14y 25| MA-B)=3 n(U=(4 U B))=4
Areas =1 %1, 15 25 n(B—A4)=6 Math@MUT

aread4 = {3,8,10, 13}

[ [ areal =1{2,8,13} |
area? = {5} n(intersect(4, B, C)) =1 n(4d-B)=5
area3 = {3,14} n(union(4, B, C)) =12 n(B-A4)=2
ns3=| 12 aread = {4,10} 2e n(d N B)=2 n(CnNn((4vB))=3
' area5 = {15} [~ nB N C)=1 n(Cu (4 nB))=7
areab = { } n(4 v C)=10 n(intersect(4, B, C)) = 14
area7 ={7,11,16} n(B v C)=9 Math@MUT
L L area8=1{6,9,12} | ]
4V B={2,3,4,56,7,8,9,10,11} [ 1=(A v B={areal, area2, area3}) ]
40 B={2,46} 2=(B—A={aread})
4V B=1{23,46,728,11,12} 3=((4-B) U (B—A)={areal, area3})
Bnd= 15.9,10} 4= (A,: {area3, area6, area7, aread })
Ans4 = A-B=1{3,7,8,11} , AnsS = S5=(C v (A n B)={area2, area4, areas, areab, area?7})
B —4= {12} 6=((4 v C) n (B Y C)={area2, area4, area5, areab, area7 })
(4 U B)=1{12} 7=((B=4) N (B-C)={area3})
A~ B'={12} 8=(B - C = {aread, area7})
L (A—B)':{2,4, 5,6,9,10,12} | L .9:(A, N (B—C)’:{area6, area7, area8 }) J

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.14470

“:e“;fg’zi n(d N B)=2  n(4du B)=8
Ansl =| 1= ar:aja_ {‘1 234y 27| MA=B)=2 n(U=(4 U B)=3
aread— 16, 10,111 n(B-A)=4 Math@MUT
area]:{2618{,9}511} n(4 A B)=0 n(4 U B)=9
Ans2=| 1= aredz = 2= n(4-B)=4 n(U-(4 U B))=3

area3={7,10,13,14, 15} [~

areat— {4, 5.12) n(B-A)=5 Math@MUT
[ areal = {8, 10} l |
area2 = {3,7,12} n(intersect(4, B, C))=0 n(d-B)=4
area3 = {4} n(union(4, B, C)) =10 n(B-4)=2
ansi=| 12 aread = {5,16} . n(4 N B)=3 n(C N (4 v B)=3
' area5=1{} - n(B N C)=1 n(C U (4N B)=7
area6= {9} nd U C)=9 n(intersect(4, B, C)) =15
area7 = {6} n(Bu C)=8 Math@MUT
L Larea8 = {2, 11,13, 14, 15} | ]
4V B=1{2,4,8,10,14} I 1 =(A = {area3, aread}) 1
/ 4N B={4,8} 2=(A-B'={area2})
4 v B=1{345, 6’, 7,8,9,10, 11, 12,13} 3=((4 N B) = {areal, area3, aread })
B N A=1{214} 4=(A v B={areal, areal, area3, area4, area’, area6 })
Ans4 = 4-B={10} , Ans5= S5=(C n (4 v B)={area4, areal, areat })
B —A4=1{3,5,6,7,9,11,12,13} 6=((A4 n C) v (B n C)={aread, areal, areat })
(4 v B)’: {3,5,6,7,9,11,12,13} 7=((C-4) v (C-B)={aread, areab, area7 })
A N B'=(3,56,7,9,11,12, 13} 8=(C - B = {area2, area3})
_(A—B)':{Q, 3,4,5,6,7,8,9,11,12, 13,14} | L ,9=((B—C)’—A={area6, area7, area8}) |
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Set0l Answers for No.14561
areal ={9,12,13}

area? ={ } n(4d N B)=0 n(d U B)=17

Ansl =| .1 = ,.2=| n(4d-B)=3 n(U-(4 U B))=4
area3 ={4,6,8,10} B
areat = {3.5,7.11} n(B-4)=4 Math@MUT
”ml:i’{lz’}l“} N4 B)=1  n(4U B)=6
Ans2=| .1 = ar:;j“_ {‘11 Isy 2= nA-B)=3 n(U-(4 U B)=6
aread = {4,6,8,9, 10, 13} n(B-4)=2 Math@MUT
i areal = {2,4,7} ] 1
area2 ={6,9,16} n(intersect(4, B, C)) =1 n(4-B)=3
area3 = {13} n(union(4, B, C)) =10 n(B-A4)=1
ns3=| 17— aread = { } P n(4d N B)=4 n(CnNn((4uvB))=1
=T areas = {15} Pl = n(B N C)=1 n(C U (4 N B))=6
area6 = { } n(d v C)=9 n(intersect(4, B, C)) = 15
area7 ={1,11} nBu C)=7 Math@MUT
L Larea8 = {3,5,8,10,12, 14} | ]
[ 40U B={3,4,5610,11,12,14,15} | i 1=(4 N B={area2}) 1
' 4 N B={412} 2=(A-B={aread})
4 v B={4,506,7,8912,13,16} 3=((A-B) n (B-A)=1{1})
B nA4={31011,14,15} 4=(4 v C={areal, area2, area4, area5, areab, area7 })
Ans4 = A-B={5,6} , AnsS = S=(A4 n (B v C)={area, area4, area’})
B-A= {7,8,9,13,16} 6=((4 N B) U (4 n C)={areal, aread, areal })
(4 U B)=1{7,8,9,13,16} .7=((C—-A4) U (C-B)={aread, area6, area7})
A~ B={7,891316} 8=(4 U C = {areal, area2, area3, areab, area’, area8})
l(4-B)'=1{3,4,7,8,9,10, 11, 12, 13, 14, 15, 16 } | L 9=(4 n (B-C) ={areab, area7, area8 }) _
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Set0l Answers for No.14657

areal = {4,6,11,12}

o= (| n(4 N B)=0  n(4 U B)=7
Ansl=| .1 = areZ;f{; o.14) 25| pA-BY=4 n(U-(4 U B)=6
aread =13, 5,8, 10, 13, 15} n(B-4)=3 Math@MUT
“’e"éjz’;i n(4 N B)=2  n(du B)=7
Ans2=| 1= az;“_b o 10y p2=| MA-B)=2 n(U-(4 U B))=4
areat= {0, 1.2,9) n(B-A4)=3 Math@MUT
[ i areal = {3,5,7} ] i
area? = {17} n(intersect(4, B, C)) =0 n(4d-B)=35
area3 = {13, 16} n(union(4, B, C)) = 10 n(B-A4)=2
I aread = (8,9} S n(4d N B)=1 n(C M (4 U B))=2
Sl area5=1{ } S n(B N C)=0 n(C U (4N B))=5
areab={ } n(4d v C)=8 n(intersect(4, B, C) ) =19
area7 = {11,12} n(Bu C)=7 Math@MUT
L Larea8 = {0, 1,2, 4,6,10, 14,15, 18 } | ]

(4 U B=1{0,1,2,3,4,5,6,8,9,10, 12} | r
AN B={9,10}
AU B=1{0,2,3,6791011,13}
BN A={1452812}
A-B=1{0,2,3,6}

1=(A v B={areal, area2, area3})
2=(B-A'={area2})
3= (A' U B'= {areal, area3, area4 })
A4=(B n C={area5, areab})

Ans4 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })

, AnsS =

B —A={7,11,13}
(4 U B)=1{7,11,13}
A~ B={7,11,13}
L(A-B) =1{1,4,5,7,8,9,10, 11,12, 13 }]

6=((4 U B) nn (B v C)={areal, area3, area4, areal, area6 })
7=((B-4) n (B-C)={area3})
8=(B —4'={areal, aread})
9=((B- C)'—A = {areab, area’, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.14661

[ areal=1{4,7,8,13} |

aread— 11} (n(4 N B)=1 n(4 U B)=8
Ansl =| .1 = area3 = (2.5, 12} ,.2=| n(4d-B)=4 n(U-(4 U B))=5
| lareas=(3.6,9,10,113] LNB-A)=3 Math@MUT 1|
areal = {9} n(4 A B)=5  n(4 U B)=8
Ans2=| .1 = ”reaz:{;f{’;’lllo; 23 52l n4=B)=1 n(U—=(4 U B))=4
I arz:szglai 6,51 L n(B—A)=2 Math@MuT |
[ [areal ={4,8,9,10,15}] T
area? = { } n(intersect(4, B, C))=0 n(Ad-B)=7
area3 =1{1,2,3,6,7} n(union(4, B, C))=13 n(B-—A4)=6
dns3=| 12 aread = {5, 14} 2o n(4 N B)=0 n(C N (4 v B))=3
' area5=1{ } . nB N C)=1 n(C U (4N B))=3
areab = {13} n(d v C)=8 n(intersect(4, B, C)) =16
area7 = { } n(B U C)=8 Math@MUT
L area8=1{0, 11,12} ]
AU B={01,5891012} | [ d=(A N B={area2}) 7
AN B={5} 2=(B -A'={areal })
AU B={2,3,4,56,7,9,10,11} 3=(4 N B'={aread})
BmA':{O, 1,8,12} 4=(A n B={area2, area5})
Ans4 = A-B={9,10} , Ans5 = S5=(C U (A4 n B)={area2, area4, areas, area6, area?7 })
B —4= {2,3,4,6,7,11} 6=((4 v C) n (B U C)={area2, area4, areal, areab, area7 })
(4 v B)':{Z, 3,4,6,7,11} 7=((C—-4) v (C-B)={aread, areab, area7 })
A4 N B= {2,3,4,6,7,11} .8:(A, N C= {area3, area8 })
L(A —B)': {0,1,2,3,4,5,6,7,8,11,12} | L 9=(C n (4 —B)/: {area5, areab, area7}) |
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Set0l Answers for No.14674

fregl_:{g6j} n(4 A B)=2  n(4 U B)=5
Ansl=| 1= a“r;“3__{7’12} L2=| n(4-B)=1 n(U-(4 U B))=7
aread = {2,5,8,9,10, 11, 13} n(B-4)=2 Math@MUT
areal = {12011{31,11}6, 17} N4 B)=1 n(A U B)=8
Ans2=| .1 = ar;’;;“_ {‘7 o.15) 2= MA-B)=4 n(U-(4 U B))=6
aread = {4,5,6,8, 12, 14} n(B-4)=3 Math@MUT
[ areal = {8, 10, 18} i
area? = {6} n(intersect(4, B, C)) =1 n(4d-B)=35
area3 = {16} n(union(4, B, C)) = 11 n(B-A4)=1
i 12 aread = {1,5} S n(4 N B)=2 n(C A (4 U B))=3
3= areas= {11} S = n(B n C)=1 n(C U (4 N B))=7
areab = { } n(4 v C)=10 n(intersect(4, B, C)) =18
area7 ={7,9,13} n(Bu C)=8 Math@MUT
Larea8 = {0, 2, 3, 4,12, 14, 15, 17} ]

Ans4 =

X [Page = 0032]

(4 U B=1{0,1,2,4,5,7,8,9,10}]

AN B={7}

AU B={0,1,2,3,4,56,7,8)}
BN A=1{910}
A-B=1{0,1,2,4,5,8}

B —-A4=1{3,6}

(4 U B)=1{3,6}

A N B={36}

(4-B)=1{3,6,7,9,10} | L

AnsS =

i

AI:(A’= {area3, aread })
2=(B—-A4A={area3})
3=((4 n B)': {areal, area3, area4})
4=(B n C={area5, areab})

S=(4 v (B n C)={areal, areal, aread, area$, area6 })
6=((A4 U B) n (4 v C)={areal, areal, aread, areal, areab })

J=((B-4) n (B-C)={area3})
8= (A’— C= {areab, area7 })
.9:(C' N (B—A)’: {areal, area2, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.14676

Ans4 =

X [Page 0033]

areal = {3, 5,7} (4 A B)=0  n(4 U B)=9
Ansl =| 1= area3:£l};elcsz,:4{,6};8, 11y 2= MA4-B)=3 n(U=(4 L B)=3
I | aread={0,9,10} Ln(B-4)=6 Math@MUT |
areal = (8,9} (4 A B)=2  n(4 U B)=5
Ans2=| 1= “rf“23:_{{61’07}} ,2=| n(4-B)=2 n(U-(4 U B))=6
L _area4i?(;,2_,3, 45,11y  LnBoD=I Math@MUT ] |
[ [ areal = {12} i i
area? = {1} n(intersect(4, B, C)) =1 n(4-B)=1
area3 = {8,15, 16} n(union(4, B, C)) =10 n(B-A)=5
ns3=| 1= aread ={ } e n(4d N B)=2 n(C N (4 v B))=3
areas = {13} ’ n(B N C)=3 n(Cu (4N B))=6
area6 = {0,3} nd v C)=7 n(intersect(4, B, C) ) =17
area7 ={2,7} n(Bu C)=9 Math@MUT
L Larea8 = {4,5,6,9,10, 11, 14,17} | ]
4V B={4,57111,13,16} I 1 =(B = {areal, aread})
, AN B={13} 2=(A'-B={aread})
AU B'=16,7.89,10,11,12,13, 14,1517} 3=((4 U BY = {aread))
B nA4={4516} 4=(4 N B={area2, areas})
A-B={7,11} , Ans5 = S5=(C n (4 v B)={area4, areal, areat } )
B —A=1{6,8,9,10,12,14,15,17} 6=((4 n C) u (B n C)={aread, area’, area6 })
(4 v B),: {6,8,9,10,12,14, 15,17} J=((B—-4) U (B-C)={area2, area3, areab})
A4 N B= {6,8,9,10,12,14, 15,17} 8= (A’ U C= {areal, area2, area3, area6, area7, area8 })
L(A—-B) ={4,5,6,8,9, 10, 12, 13, 14, 15, 16, 17 } | L 9=(C N (4-B) = {area2, area3, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.14685

Ans4 =

[Page = 0034]

L(4-B)=13,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17} |

areal = {1,6} n(d N B)=3  n(du B)=6
Ansl =| 1= area2=3{_0,{43,}11} 2= n(4-B)=2 n(U-(4 U B))=6
aread :ar{e; 5.7.8.9.10} n(B-4)=1 Math@MUT
areal = {6,10} n(d n B)=2  n(4d U B)=9
Ans2=| .1 = are;;fi:{sli 117}13} L 2=| n(4-B)=2 n(U-(4 U B))=4
areat— (3.8,9, 15} nB-A4)=5 Math@MUT
i areal = {9} l |
area? = { } n(intersect(4, B, C))=0 n4d-B)=4
area3=1{0,1,2,7,8} n(union(4, B, C)) =13 n(B-A4)=5
ansi=| 12 aread = {5,6,16} e n(4 N B)=0 n(C N (4 U B))=3
areas = { } ’ n(B N C)=0 n(C U (4N B))=7
areab = { } n(4 v C)=8 n(intersect(A4, B, C)'): 18
area7 = {3,12,13,17} n(B v C)=12 Math@MUT
L Larea8 = {4, 10, 11, 14, 15} | ]
A v B=1{4,8,9,12,14,15,17} i 1=(4 N B={area2})
, 40 B=112,14; 2=(B-A'={area2})
A v B={3,45,6,7,10,11,12,13, 14,16} 3=(A-B)n (B-A)={})
BN A= {8,9,15,17} 4=(B v C={area2, area3, aread, areal, area6, area?})
A-B={4} , Ans5 =

B'—A4=1{3,5,6,7,10,11,13,16}
(4 U B)=1{3,5,6,7,10,11,13,16}
A4~ B={3,56,710,11,13,16}

S=(C v (4 n B)={area2, area4, area’, areab, area?7})

7=((C-4) v (C-B)={area4, areab, area7 } )
.8=(B’ N C= {areal, area8 })

9=((4- C)’— B = {aread, area7, area8})

6=((4 v C) n (B U C)={area2, area4, areal, areab, area7 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.14694

X [Page = 0035]

“rer“I;_{{z’sz} ndnB)=1  n(4 U B)=6
Ansl =| .1 = areZ;f {‘3 611 |27 nA-B)=2 n(U=(4 U B)=S
aread = {4, 5,9, 10, 12} n(B-4)=3 Math@MUT 1|
areal = {5’27’,8;2’}10’ 13 ndnB)=1 nduUB)=9
Ans2=| 1= ar:;j“_ {‘14 173 L 2=| n(4-B)=6 n(U-(4 U B))=5
aread = {4, 11,12, 15, 16} n(B-4)=2 Math@MUT
[ areal = {15} ) i
area2 = {4,10} n(intersect(4, B, C)) =0 n(4d-B)=1
area3=1{3,7,8, 11, 14} n(union(4, B, C)) = 13 n(B-A4)=5
P aread = { } 5 n(d N B)=2 n(C A (4 U B)=0
=L areaS=1{ } 4= n(B N C)=0 n(C U (4 B))=7
areab = { } n(d v C)=8 n(intersect(4, B, C)) = 14
area7 =1{5,6,9,12,13} n(B v C)=12 Math@MUT
area8= {2} i i

(4 U B={2,3,5,6,7,8,9,10, 11} ]
AN B={38,9}

AU B=1{23,45,6,718,9,12}
B N A={10,11}
A-B=1{2,56,7} i

B —A=1{4,12}
(4 U B)=1{4,12}
A~ B={4,12}
L (A-B)=1{3,4,8,9,10,11,12} |

Ans4 = AnsS =

A= (A'z {area3, aread })
.2=(B'—A'= {areal })

3=((A4-B) U (B-A4)={areal,area3})
4=(A4 v C={areal, area, area4, area$, area6, area?7})
S=(B v (4 n C)={area2, area3, aread, areal, area6 })

6=((4 U B) n (B v C)={areal, area3, aread, area’, area6 })
7=((C-4) v (C-B)={aread, areab, area7 })
,8=(A’—B’= {area3, area6 })
9= (B/ N (4- C)': {aread, area7, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.14705

Ans4 =

[Page = 0036]

areal = {9, 12}
areal = {5}

Ansl=\ - I=) a3 = (2,6,10, 11} [
aread ={3,4,7,8}
areal = {3,5,6}

ns2—| 71— area? = {2,12,13, 14}

area3 = {4,10}

area4d ={7,8,9,11}

areal = {4,8,9} |

area? = {5,12,17}
area3 =1{7,13}

2=

,.2 =

n(4 N B)=1 n(4d v B)=7
n(Ad-B)=2 n(U-(4 v B))=4
n(B-4)=4 Math@MUT
n(4d N B)=4 n(4 U B)=9
n(4d-B)=3 n(U-(4 v B))=4
n(B-4)=2 Math@MUT
n(intersect(4, B, C)) =1 n(4-B)=3
n(union(4, B, C)) =11 n(B-4)=2

aread ={ }
Ans=).I= areas = {14} 2=
areab = { }
area7 = {16, 18}
L Larea8={1,2,3,6,10,11, 15}
i A U B=1{56,7,11,13,14, 16,18} i i
AN B={5}
A U B'=1{4,57,8,9,10,12,15,16,17}
BN A={611,13, 14,18}
A-B={7,16} . AnsS =

B —A=1{4,8,9,10,12,15,17}
(4 U B)=1{4,8,9,10,12,15,17}
A~ B'={4,8,9,10,12,15,17}

L(A4-B)=14,5,6,8,9, 10, 11, 12, 13, 14, 15, 17, 18 } |

n(4 N B)=4 n(C N (4 U B))=1
n(B N C)=1 n(CuU (4N B))=6
n(4 v C)=9 n(intersect(4, B, C)) =17
n(B v C)=8 Math@MUT

d=(4'= {area3, area4})
.2:(A'—B'= {area3})
3=(4=B) N (B-4)={})
4= (B ={areal, area4, area7, area8 })
S=(4 v (B n C)={areal, areal, area4, areas, area6 })

6=((4 U B) n (4 v C)={areal, areal, aread, areal, areab })

J=((B—-4) n (B-C)={area3})
8=(B n C= {areal, area8 })
9=(4 n (B—C),z {areal, area4, area’ })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.14715
areal = {7,10, 13}

areaZ— {14, 15} n(4d ~B)=2  n(4 U B)=6

Ansl =| .1 = 2= n(4-B)=3 n(U-(4 U B))=6
area3 = {4} _
aread = {5,6,8,9, 11,12} n(B-4)=1 Math@MUT
””e“éf g i?i n(d N B)=2  n(4du B)=7
Ans2=| .1 = areas =1’ 2= n(4-B)=2 n(U-(4 U B))=8

area3 =1{6,9,15}

aread = {1,2,3,4,5,12, 13, 14} n(B-4)=3 Math@MUT
[ areal = {2,8} i i
area = { } n(intersect(4, B, C)) =1 n(4A-B)=2
area3 = {3,4,11} n(union(4, B, C)) =11 n(B-4)=4
ns3=| 1= aread = { } . n(4d N B)=1 n(C N (4 U B))=2
' area5=1{6} e n(B N C)=2 n(C U (4N B))=6
area6= {10} n(d U C)=38 n(intersect(4, B, C) )= 15
area7 = {5,12, 13,15} n(Bu C)=9 Math@MUT
L Larea8 = {0,1,7,9, 14} ]
4 B=1{1,2,3,567809} [ 1 =(A4 v B={areal, area2, area3})
4~ B={8} 2=(B - A= {aread})
4 v B =10, '1’4’ 5,6,8,9,10; .3=(A' U B'= {areal, area3, area4})
B nA={237} A4=(A n B={area2, area5})
Ans4 = A-B=1{1,5,6,9} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B —4= {0,4,10} 6=((4 v B) n (B v C)={areal, area3, aread, area’s, area6 })
(4 U B)=1{0,4,10} 7=((C-4) n (C-B)={area7})
A N B=1{0410} 8=(C' - B'={area2, area3})
L (A—B)':{Oj 2,3,4,7,8,10} ] L .9:((A—B)/—C:{area2, area3, area8 }) |
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Set0l Answers for No.14716
areal = {3,6
(3,6} n(4 N B)=3 n(d U B)=8
area2 =1{7,9,10}

Ansl=| I=| s g iy p2T| MA-B)=2 n(U=(4 U B))=3

] areat= (1,3, 5) n(B-A)=3 Math@MUT
areal = {5,9} n(d N B)=1 n(4du B)=8
Ans2=| 1= area;f;‘;yzj{i;! oy 2| nA=B)=2 n(U-(4 v B)=6
Laread = {1,4, 11,12, 13, 14} n(B-4)=>3 Math@MUT
[ areal ={6,9,17} ] ]
area = { } n(intersect(4, B, C)) =0 n(4-B)=5
area3 = {14} n(union(4, B, C))=11 n(B-4)=3
ansi<| 12 aread = {11,13} e n(4 N B)=0 n(C N (4 v B))=4
area’ = { } ’ n(B N C)=2 n(Cu (4 nB))=7
area6 = {10, 15} n(4 v C)=10 n(intersect(A4, B, C)') =18
area7 = {2,16, 18} n(Bu C)=8 Math@MUT
L Larea8={1,3,4,5,7,8,12} ] ]
A UB:{1’2’4’6’75859> 10311} I .]:(B':{areal,area4}) 1
4mB={1,6} 2=(A'—B={aread})
AuBf{l,3,4,5,6,8,12} .3:(A/mB':{area4})
B nA4={270910,11} 4=(4 N C={area4, areas})
Ans4 = A-B={4,8} , Ans5 = S=(B v (4 n C)={area2, area3, area4, area5, area6 })
B —4={3,512} 6=((4 U B) n (B U C)={area2, area3, aread, area5, area6 })
(4 v B)’: {3,5,12} 7=((C—-A4) u (C—-B)={aread, areab, area7 })
A4 N B= {3,5,12} 48=(A' U C= {areal, area?, area3, areab, area7, areas })
L(4 —B)': {1,2,3,5,6,7,9,10, 11, 12} | L 9=(C n (B—A)rz {aread, area$, area7}) |
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Set0l Answers for No.14719

[Page 0039]

Ans4 =

areal = {5}

B n(4 N B)=2  n(4 U B)=6
Ansl=| .1 = a;;fj“f;;zl‘olzl}l} L 2=| n(4-B)=1 n(U-(4 U B))=7
aread=1{1,3,4,6,8,9, 13} n(B-4)=3 Math@MUT
”rm;fz{’;’;ll’olf} n(4 n B)=3  n(4 U B)=8
Ans2=| .1 = "”;’regj_’{;} 2= n(4-B)=4 n(U-(4 U B))=6
aread = {1,4,8,9, 12, 14} ] n(B-4)=1 Math@MUT
[ i areal = {2,3} | ) 1
area? = { } n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {6,7,10, 15} n(union(4, B, C)) = 10 n(B-A4)=5
P aread = {17} 5. n(4 N B)=0 n(C N (4 U B))=2
mIE A areaS=1{ } ST aB A 0)=1 n(C U (4 N B))=4
area6 = {14} n(4 v C)=6 n(intersect(4, B, C) )= 17
area7 = {4, 11} L n(Bu C)=8 Math@MUT
L Larea8={1,5,8,9,12,13,16} ]

A U B=1{4,56,9,12,13,17}
AN B={}

A U B'={3,7,8,10,11, 12,13, 14,15,16,17}
BN A={450609
A-B={12,13,17}

B'—-A4=1{3,7,8,10,11, 14, 15,16}
(4 U B)=1{3,7,8,10,11,14,15, 16}
A~ B'=(3,7,8,10,11, 14, 15,16}
l(A-B)=1{3,4,5,6,7,8,9,10, 11, 14, 15, 16} |

Ans5 =

>

A =(4 v B={areal, area2, area3})
.2=(B'—A: {area4})
3=((4-B) n(B-4)={})
4=(A v B={areal, area2, area3, area4, area$, area6 })
5=(C n (4 v B)={aread, areas, area6})
6=((4 N C) v (B n C)={aread, areas, areab })
J=((B-4) n (B-C)={area3})
.8=(A’ N C= {area3, area8})
9= ((B—A)’— C= {area4, area$5, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.14734

areal ={2,5, 13} nd N B)y=1 n(duU B)=9
Ansl =| 1= area = {4} 2= n(4-B)=3 n(U-(4 U B))=4
area3 ={3,6,7,9,11} n(B-A)=5 Math@MUT
aread = {8, 10, 12, 14} |
area]:{0,2112,46,8, 10} nA ~ B)=1 N4 U B)=11
Ans2=| 1= area“;ri“{is{! 9}!’11} ,2=| n(4-B)=6 n(U-(4 U B))=1
aread = {7} n(B-4)=4 Math@MUT
[ i areal = {15} ]
area = {17} n(intersect(4, B, C)) =1 n(A-B)=2
area3 = {1,7,14,19} n(union(4, B, C)) =12 n(B-4)=5
nsi<| 1< aread = {18} 2o n(d N B)=2 n(C N (4 v B))=3
' area5 = {10} - nB N C)=2 n(Cu (4 nB))=7
area6= {13} n(d U C)=38 n(intersect(4, B, C) )= 19
area7 ={0,3,6} n(B U C)=11 Math@MUT
L Larea8 = {2,4,5,8,9,11,12,16} i
[ AU B={0,3,4,517,13,14} ] I 1=(4 U B={areal, area2, area3}) ]
4 N B=1{0,3,14} 2=(A-B'={area2})
AU B= {0,1,2,3,4,5,6,8,9,10, 11, 12,13, 14} 3=((4 v B) = {aread})
B nA={7} ,4=(A’= {area3, areab, area7, areal8 })
Ansd = A4-B={4,513} , Ans5 = S=(A4 n (B v C)={area2, area, areal })
B'—4=1{1,2,6,8,9,10,11,12} 6=((4 N B) U (4 n C)={area2, aread, areas})
(4 v B)’: {1,2,6,8,9,10, 11, 12} 7=((A-B) U (A-C)={areal, area2, aread })
A N B= {1,2,6,8,9,10, 11,12} 8=(4 U B'= {areal, area3, area4, area6, area?7, area8})
| (4-B)=1{0,1,2,3,6,7,8,9,10,11,12,14} | L 9=(C N (4 - B) = {areas5, area6, area7}) ]
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